Self Assessment test —1

Class Il Subject- Mathematics

1. Tick the correct answer: (4)
a. The place value of 6 in 6782 is _

i) 600 (ii) 6000 (iii) 60

b. The greatest 4-digit numberis__

i) 1000 (i) 9000 (iii) 9999

c. The successor of 7239is ____

i) 7241 (i) 7240 (iii) 7238

d. The answer after adding the two numbers is called

i) Sum (ii) Difference (iii) Product

2. Fill in the blanks: (4)
a) 2490 2690

i) = (i) > (i) <

b) 2000+ 70+ 5=
) 2075 (i) 2750 (iii) 2507




c) We get the Predecessor of a number by 1

from the number.

i)Multiplying (i) Adding (iii) Subtracting
d) ___ +2461 = 2461

) 1 (i) O (iii) 2461

3. Match the following:

A. B. (4)
a. Four thousand eight (i) smallest 4-digit
b.7246 + __ = 7346 (i) 5928
c. 1000 (iii) 10
d. 5000 + 900 + 20 + 8 (iv) 4008
(v) 100
4. Arrange in ascending order: (1)

7520, 2570, 45200, 2520.
5. Arrange in descending order: (1)

6243, 3743, 5246, 6543.



6. Arrange in columns and Add: (3)

) 2573 and 1450
ii) 7890 and 645

7. Word Problem: (3)

Mithilesh has 5625 stamps, his sister gave him 2000
stamps. How manystamps does Mithilesh have in all?



